MATH 1314

Test 3 Review (Alternate)
18 Multiple Choice Questions



Find the following considering the function:
x> —6x+2 x<-=3
fx) = 9 x =-3
x—5 x> —3
4 f(-6) [-b<-30 = PO (- E(~g)t2- 3 +3(+7 =7
L (I B
o (5) [5>-20 ~ F(s)- §-S =©

Find an additional x-value that can be plugged into x*—6x+2 -4 -5 /0. o
Find an additional x-value that can be plugged intox—-5 -2/ o/, .«



Assuming that f(x) is an even function passing

though the point (5, —3),ﬁch of the following
must be true:
Y- A

3 f(x) is symmetric about the arigin_

9/6; passes through the point (-5, -3)

4 f(-x) =++(x)

%e equation of f(x) must have only even exponents
Dthe equation of f(x) may have a constant term

L‘? -; :BXD - (EVeaCxp



Assuming that g(x) is an odd function passing

though the point (-3, 8), which of the following
must be true:

g(x) is symmetric about the origin

y passes through the point (3, -8)
EIg-X) =-8(x)
the equation of g(x) must have only odd exponents

 the equation of g(x) may have a constant term



|dentify which of the following is a function:

y = |x| h
V2 5V+6=X2+4x+2 Vot = Frach o~ ”y"”‘
Jx =yl — Lo lve By Voo Y==2< = yz2x
2 - t
El/x+4x+7y_9 v

Ox=8 verricd Line =) o Fundion

y=-4



Determine the domain of the functions:

Nrs JxT8
f(X): g(x): —
x+7 X
P Xx—/ ¥ O
o | KE7%O Pomi X
’ X ;5\7 X X
@4/"45»l: X—j >0 Q/”Q;q/" X420
x> -5
X z5
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- ¥
£ -8 )uCl, 0o)



Write the function of the following...

| \I€/>EC\7/2) L ..in f(x) = a(x = h)2+ k form
\VA2Y -}ex :(H,}QD ;(,/S)
| ] Loxd-= @C)(*’)2+3
2 \ -P/L,J L /O//) s ~ (47 o L(./ IDQ,.',-/»
e - -/
D | | | V= o -1+ C(%) :Z(X ) -r—i
| = &43 — = =X
| | | ...in f(x) = ax2 + bx + ¢ form
0 / 2 i f(x/: \Z(X‘/XX-D 3
- > ->x1/)43
<=2 (¢ x5
I — - Z 2x" +4>< -2 +3
I—2 g @3 I b+ *ﬁ




Consider the following function: *
f(x) = 2x2+8x 3

Determme the direction 0P <y 220 "
Find the vertex < = “ZJ’Q = ;_i), 'j s =9 s
LC-2)22C-2) 780G =3=20D49 -2 3= §—)4 -3 =11 —¢

(=2 —11) —=CuL
Write in standard form Q(ﬁ): alon) ok = fom=2 (=+z)—))
Find the domain (-, t2)
Find therange <s/2ce <perns ©p [/i 60) /’[ﬁ/, o0)
Determine the minimum/maximum value
I iy g w s lne .,p -



If f(x) is a one-to-one function and g(x) = f1(x) and

f(;6) :3 and f(g) = —5 ﬁ(x) D
Find g(-6) ¢y  (3-4)
@(*6):@ (F-6) (76 D=0
(a,b) —= (& &)

Find (fog)(2) = F'(9cw) =<
R le *@f‘ 1 VB e ﬁ“""*"""f
C(ﬁ()()) :j (1CO<D =X



For the following function determine (and
simplify) the difference quotient:

flx+h) = fx) (fi?():@ f(x) =—=2x*+7x—3

h XE rxhd x4
X2 4 el ] &

ﬁ(xﬂ): 2 (x) +7(xAb) =3 = —2(x +Zx b+ +7(<t5D
= 2x -k -zZLY 47 #7L, -3

f/X\lA)‘f(X) % /7/>~’[¢ ‘ZL; —g/+7[‘ 73/%}1%
- Y —2L* 7L
E(XJ-L,)-Q(y \é/xg —2L% +74 ~4><4 ZL?.

- - 4/ - T HX’ZL(F;)




For the following functions f and g:

(x) = —
flx x—3
() = =
gx) ==
?)/C) 2 . 3 & fZ
Determine the value of g(f(6)) = 9(75)= 2)~ E2)-¥ = ;5.0 7~
/\)L/ 4/ | ’ (/3/
HO = 7 :f

Find (f og)(x) - l‘{j(x)) ﬁ(s_x) = . "'/ZZ,O/;—X
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_9(




Determine the inverse function:

v’)&f-,a"[\”(”\‘ X —
P y N +3
B 2 (“VQ/O:( >/f ZX7
)<__
X = 5_\/"-_7 Lo g )(:Zyﬂ'}
X4 = Sy Ramge o 7O T V7
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For the following transformed function: *
e State the parent function Y = /x| A bsehe Vel Fom e 6n (DD

* List the transformations that appear

 Sketch the function (showing all transformations)

 State and label the transformed key point.

fx)=|—x+2|—-3
Lofi2 Y= [xez] @
Veaxy EF1 Y= [-x *Z/

Down 3 ‘C(X)f /—x*a/'l (> L %\
%‘

b B (2D (2= Q=@




